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Roll No. .................................

NARAYAN TALENT SEARCH EXAMINATION, 2012-13
CLASS - VIII

Direction :-

1. The question paper has seven parts. All questions are to be attempted.
iz'u i= ds lkr Hkkx gSA lHkh iz'u vfuok;Z gSaA

2. Four alternative answers are given for each question but only one answer is
correct. Identify and put a Darken for it on the answer sheet. No other mark is
acceptable.
izR;sd iz'u ds pkj fodYi fn;s x;s gSa ijUrq muesa ls dsoy ,d lgh gSA Bhd mÙkj pqudj mÙkj
iqfLrdk esa xksys dks xgjk djsaA vU; dksbZ fpUg u yxk;saA

3. Do not use lead pencil on the answer sheet. Darken with Bal Pen. Over writ-
ing is not accepted.
iSafly dk iz;ksx mÙkj iqfLrdk ij u djsaA cky iSu ls xksys dks xgjk djsaA dkV dj fy[kk x;k fpUg
ekU; ugha gksxkA

MENTAL ABILITY
Directions : Q.No. (1-5) Select the numbers from given options for completing the given series

funZs'k ¼iz la0 1 ls 5½
fuEu fodYiksa eas ls ,d vad pqus vkSj J`a[kyk iw.kZ djsaA
1. 1, 1, 2, 3, 5, 8, 13, .................

a) 18 b) 20 c) 21 d) 19

2. 1, 1, 2, 8, 3, 27, 4, 64, 5, ................................

a) 80 b) 625 c) 25 d) 125

3. 30, 33, 36, 39 ....................

a) 42 b) 69 c) 42 d) 70

4. 0, 3, 8, 15, 24, ..........................

a) 36 b) 33 c) 34 d) 35

5. 10, 14, 20, 42, 40, .........................

a) 80 b) 126 c) 84 d) 60

Time 3 Hrs. M.M. 200
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Direction : Q.No. (6-8) In each of question there is certain relationship between two given words

on one side of : One word is given an another side of : Find other word on this side so they have

same relationship like first pair.

(6-8) uhps fn, x, iz'uksa eas igys nks 'kCnksa eas ,d fo'ks"k lEcU/k gS nwljh rjQ ,d 'kCn fn;k gSA
vkidks igys tksMs+ eas tks lEcU/k curk gS mlds vuq:i nwljk 'kCn Nk¡Vuk gSA

6. Illiteracy : Education : : Flood : ?

a) Bridge b) Dam c) River d) Rain

7. Water : convection : : space : ?

a) Conduction b) Vaccum c) Radiation d) None of these

8. Engineer : Machine : :  Doctor : ?

a) Disease b) Medicine c) Hospital d) Body

(9-10). Arrange the given words as according to dictonary and choose the one that comes first.

vaxzsth 'kCndks"k vuqlkj izFke 'kCn dkSu lk gS
9. a) Spouse b) Spelt c) Sphere d) Sprant

10. a) warm b) wasp c) walk d) wait

(11-15) Find odd man out. bueas ls csesy NkVksa
11. a) MPS b) WZS c) ADG d) FHJ

12. a) 31 b) 39 c) 41 d) 43

13. a) copper b) iron c) mercury d) zinc

14. a) Ship b) Aeroplane c) Bus d) Pen

15. a) Father b) Brother c) Sister d) Uncle

16. If WRITES coded as SWTIRW. Then CASKET will be coded as

;fn ladsfrd Hkk"kk esa `Writes' dks `SETIRW' fy[kk tkrk gS rks mlh dksM eas CASKET dks D;k fy[kk
tk ldrk gS \
a) TEKSCA b) TESKASC c) TEKSAC d) TEKASC

17. Replace the signs as given below and give answer

funsZ'kkuqlkj fpUg cnyks vkSj mrj nksA
X® +, +® ¸ ® - ®, ¸ ,  - X

5-7x9+3 2¸
a) 38 b)36 c) 40 d) 42
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18. If 2x+y=5 then 4x+2y=........................

;fn 2x+y=5 rc 4x+2y= dk D;k eku gksxk
a) 5 b) 6 c) 8 d) 10

19. If wheat is called Rice. Rice is called air. air is called water. Water is called Ice where will bird fly.

a) Rice b) Air c) Water d) Ice

pkoy dks ok;q] ok;q dks ikuh vkSj ikuh dks cQZ dgk tk, rks i{kh dgk¡ ij mM+rs gSa A
a) pkoy b) ok;q c) ikuh d) cQZ

20. DEFENCE is coded as CDEDMBD NEED will be coded as

;fn DEFENCE dks fdlh lkadsfrd Hkk"kk eas CDEMBD fy[kk tkrk gks rks NEED dks D;k fy[kk tk,xkA
a) MCCD b) MDDC c) NDDC d) MDDP

21. In the following how many 7's are there which are not preceeded by 5 but followed by 2.

uhps nh xbZ J`a[kyk eas ,sls fdrus 7 gSa ftuls igys 5 ugha gS ijUrq mlds ckn 2 vkrk gS
5726573725726872

a) 1 b) 4 c) 3 d) 2

22. Pointing to girl in a bus, a man tells his friend, She is the daughter of the only son of my

father's wife. How is girl related to man ?

a) Aunt b) Mother c) Sister d) Daughter

cl eas ,d yM+dh dh igpku crkrs gq, dgrk gS fd og esjs firk dh iRuh ds bdykSrs iq= dh iq=h
gSA ml yM+dh dk mlls D;k lEcU/k gks \
a) pkph b) ekrk c) cgu d) iq=h

23. From given answer select the word which can not be formed using letter of given word.

uhps fn, x, mÙkjksa esa og 'kCn dkSu lk gS tks fn, x, 'kCn ls ugha curk gSA
HISTORICAL

a) RICHES b) CHARIOT c) CHART d) CHAOS
24. Which one of the following diagram best depict the relationship among sparrows, birds

monse.

uhps fn, x;k dkSu lk fp= fn, x, 'kCnksa ds lEcU/kksa dks fu:i.k djrk gS A

a)      b)     c)         d)
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Directions :

(25-26) Find missing character / yqIr vad fy[ksaA
25.

a) 64 b) 60

c) 52 d) 54

26.

a) 3 b) 6

c) 4 d) 7

27. Arrange the given words in meaningful order.

1) wood 2) seed 3) Plant 4) Furniture

,d vFkZiw.kZ lkj.kh eas fy[ksaA
1) ydM+h 2) cht 3) ikS/kk 4) QuhZpj
a) 3, 2, 1, 4 2) 2,3,1,4 3) 2,3,4,1 4) 4,3,2,1

28. If A=5, B=6, C=7, D=8 and so on what do the following numbers represent.

;fn A=5, B=6, C=7, D=8 vkSj vU; dks blh izdkj fy[kk tk, rks fuEufyf[kr vad dkSu ls mrj dks
n'kkZ,axsA
17, 19, 20, 9, 8

a) SMPED b) OMPED c) MOPED d) MOTOR

Directions : (29 to 31) These questions are based upon following diagram in which three circles A,

P and S. Where A stands for Artist, circle P stands for professors, circle S for sports persons.

funsZ'k Q(29 to 31) uhps fn, iz'u bl vkd`fr ij fuHkZj djrs gSa tgka rhu o`r fn[kk, x, gSaA A,P vkSj
S. A o`r dykdkjksa dks iznf'kZr djrk gSA P, izksQSlj dks vksj S f[kykM+h dks

29. The region which represent artists who are neither sports person nor professor.

og {ks= tks dykdkjksa dks fuj;U=.k djrk gS u gh f[kykM+h dks vksj u gh izksQslj dks
a) d b) e c) b d) g

8

6

9

72

66

?

9

11

6

14

2

3

4

25

4

3

7

42

6

?

9

eA P

S

g f

c
a

b
d
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30. The region which represents professor, who are both artist and sports persons

og {ks= tks izksQslj dks fn[kkrk gS tks dykdkj Hkh gS vkSj f[kykM+h Hkh gSA
a) a b) c c) d d) g

31. The region which represents professsor who are also sport persons but not artist.

og {ks= tks izksQslj dks fu:i.k djrk gS tks f[kykM+h Hkh gS ijUrq dykdkj ughaA
a) e b) f c) c d) g

32. Find wrong number in the squance

nh xbZ Js.kh eas xyr vad NkaVksa  125, 127, 130, 142, 153, 165

a) 130 b) 142 c) 153 d) 165

33. How many cubes are thre in the figure

bl vkd`fr eas fdrus ?ku gSaA

a) 12 b) 10 c) 11 d) 13

34. Find missing character

yqIr vad fy[ksaA

123 2

1

2

121 2

3

2

?2 2

1

3

a) 18 b) 19 c) 20 d) 12

35. Which of following will complete the series

fuEufyf[kr eas ls dkSu lk v{kj leqg J`a[kyk iwjh djsxkA
a.....b c  a a.... c a a ..... ........

a) abcc b) abac c) abbc d) baac

Directions :

(36- 40) In each of following which one of answer figure on right should come after the problem

figure on left if sequence were continued.

(36- 40) fuEufyf[kr izR;sd iz'u eas ;fn Øe tkjh jgk rks nkfguh vksj dh nh xbZ mrj vkd`fr;ksa eas ls
dkSu lh mrj vkd`fr ckbZ vksj dh iz'u vkd`fr;ksa ds rRdky ckn vkuh pkfg,A
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                Problem Figure                         Answer Figure

        iz'u vkd`fr             mÙkj vkd`fr

Q.36

Q.37

Q.38

Q.39

Q.40

A B C D

A B C D

A B C D

A B C D

A B C D
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MATHS
41 If between two consecutive integer there are 8 rationals with denominator 9 then number

of rationals with same denominator between the integer 0 & 4 are ?

;fn yxkrkj nks iw.kkdksaZa ds chp 9 gj okyh 8 ifjes; la[;k,saa gSa rks iw.kkdksZa 0 vkSj 4 ds chp mijksDr
leku gj okyh fdruh ifjes; la[;k,sa gksaxh \
a) 32 b) 37 c) 36 d) None of these

42 The additive inverse of the reciprocal of fourth rational from the left between the integer -2

and 0 whose denominator is six is equal to ?

iw.kkadksZa -2 vkSj 0 ds chp ckbZ vksj ls pkSFkh ifjes; la[;k ftldk gj 6 gS] ds O;qRØe dk ;ksT;
izfryksHk D;k gksxk \
a) -4/3 b) 3/4 c) 2/3 d) None of these

43 The present age of Kamini's mother is three times the present age of kamini, after 5 years

their ages will add to 66 years. The numberof years when ratio of their ages be 1:2 when

compared with the present ages of Kamini & her mother's respectively.

dkeuh dh ek¡ dh orZeku vk;q dkeuh dh orZeku vk;q dh rhu xq.k gS] ikap o"kZ ckn mudh vk;q
dk ;ksx 66 o"kZ gks tkrk gS rks fdrus o"kksZa ckn dkeuh vkSj mldh ek¡ dh orZeku vk;q dk vuqikr
1:2 gksxk \
a) 14 years b) 42 years c) 28 years d) None of these

44 The solution of equation
6 7

3 2

4 5

2 3

x

x

x

x








lehdj.k 6 7

3 2

4 5

2 3

x

x

x

x








 dk gy gksxk \

a)
11

9
b)

11

55
c)

31

55
d) None of these

45 Which of the following statement is not true ?

fuEufyf[kr eas ls dkSu lk dFku lR; ugha gS \
a) The interior angle of a regular polygon can't be 600

b) The measure of interior or exterior angles of a polygon are divisor of 3600 then polygon is

said to be a regular polygon.

c) The number of sides of  a regular polygon be 24 if the measure of an exterior angle is 150.

d) The sum of interior angles of a polygon of n sides is equal to (n-2)x1800.
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a) ,d leku cgqHk qt dk vkUrfjd dks.k 600 dk ugha gks ldrk
b) ;fn cgqHk qt ds vkUrfjd vkSj cká dks.kksa dh eki 3600 dk Hkktd gksrh gS rc cgqHk qt leku
cgqHk qt dgykrk gSA
c) leku cgqHk qt dh Hk qtkvksa dh la[;k 24 gksxh ;fn izR;sd cká dks.k dh eki 150 gksA
d) n Hkqtkvksa okyh cgqHk qt ds vkUrfjd dks.kksa dh eki (n-2)x1800 ds cjkcj gksrh gS aA

46 If l ---> m indicate that elements of column A are realted with the elements of column B. Read

the column A & column B and find which of the relation are correct ?

Column A Column B

a) 2(lb+bh+lh) 1) Triangle ¼f=Hk qt½
b) 2 P r (r+h) 2) Cylinder ¼csyu½
c) P  r2h 3) cuboid

d)
3

4
2( )side

e) s s a s b s c( )( )( )  

f) l x b x h

;fn mijksDr iz'u eas l ---> m n'kkZrk gS fd dkye A ds vo;o dkye B ds vo;oksa ls lEcU/k j[krs
gSa rc crk;sa fd fuEufyf[kr eas ls dkSu lk lEcU/k lgh gS \
a) a, f --> 3 b) b, c--> 2 c) d, e --> 1 d) All of these

47 Consider the months of calender year 2012 & select which of the following statement is/are

not true ?

o"kZ 2012 ds ekgksa dks /;ku eas j[krs gq,s fuEufyf[kr eas ls tks lR; ugha gS mUgsa pqus \
a) probatility that name of the month start with English alphabat J is 1/4

vaxzsth dh o.kZekyk ds o.kZ J ls 'k q# gksus okys ekgksa dh izkf;drk 1/4 gSA

b) Probability that number of days of the month is a prime number is
2

3

ekg ds fnuksa dh la[;k vHkkT; gksus dh izkf;drk 2

3
 gSA

c) Probability that number of days in the month are even is
1

3

ekg ds fnuksa dh la[;k le la[;k gksus dh izkf;drk 1

3
 gSA

d) The probability that number of days in the month is less than 28 is
1

2

ekg ds fnuksa dh la[;k 28 ls de gksus dh izkf;drk 1

2
 gSA

a) a b) b c) c d) d
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48 The given pie chart shows the expenditure (in %) on vari -

ous items & saving of a family during the month. Study

the pie chart & select the wrong statement.

fn;k x;k o`r vkys[k ,d ifjokj ds foHkfUu enksa eas O;; vkSj
cpr dks ¼izfr'kr½ eas n'kkZrk gS rks fuEufyf[kr eas ls xyr
dFku dks pqusaA
a) If the saving of the family is Rs. 3000 then expenditure on cloth be Rs. 2000

;fn ifjokj dh ekfld cpr 3000 :i;s gks rks diM+ksa ij ekfld O;; 2000 : gSSA
b) The central angle regarding education for children and saving of the family be equal to

540.

cPpksa dh f'k{kk vkSj ifjokj dh cpr ds lanHkZ eas o`r vkys[k eas dsfUnz;k dks.kksa dh eki 540 ds cjkcj
gSA
c) The total income of the family be Rs. 20,000 if expenditure on education for children is Rs.

3000.

;fn cPpksa dh f'k{kk ij 3000 :i;s [kpZ gksrk gS rks ifjokj dh dqy vk; 20000 : gSA
d) The central angle regarding the expenditure on food is 1200.

[kkus ds lanHkZ eas o`r vkys[k eas dsafnz;k eki 1200 gSA
49 There are 2704 students in M.C.L Hari Nagar. On teachers day for a function teacher wants

to stand then in form of rows & columns such that number of row equal to the number of

columns then number of rows are ?

fo|ky; ,e-lh-,y- gfjuxj eas dqy 2704 fo|kFkhZ gS f'k{kd fnol lekjksg ds fy, vkpk;Z mUgsa
ykbuksa vkSj dkye eas bl izdkj [kM+k djuk pkgrs gSa fd ykbuksa vkSj dkyeksa dh la[;k leku jgs rks
ykbuksa dh la[;k D;k gksxh \
a) 52 b) 58 c) 48 d) None of these

50 Which of the following statements is/are true ?

fuEu eas ls dkSu lk dFku lR; gSA
a) The set of three number (x,y,z) is called phythagorean triplets of sum of the squares of any

two is equal to the square of third.

rhu la[;kvksa ¼x,y,z½ dk leqg ikbFkkxksjl f=;d dgykrk gS ;fn fdUgha nks la[;kvksa ds oxkZsa dk ;ksx
rhljh la[;k ds oxZ ds cjkcj gksA

Sa
vin

g15
%

Cloths10%

Food 25%Others 20%

Education
for Children
15%

House
Rent
10%

Transport
15%
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b) The sum of first n odd natural numbers is perfect square number

igyh n izkd`r fo"ke la[;kvksa dk ;ksx ,d iw.kZ oxZ la[;k gSA
c) The square of an even number is even & square of an odd number is odd.

,d le la[;k dk oxZ ,d le la[;k gksrh gS vkSj fo"ke la[;k dk oxZ ,d fo"ke la[;k gksrh gSA
d) The square root of 14641 have three digits

la[;k 14641 ds oxZewy eas rhu vad gksxsaA
a) only a,b b) only b,c d) only c,d d) All of these

a) ek= a,b b) ek= b,c d) ek= c,d d) ;s lHkh

51 The products of the terms x2+y2 & x2-y2

inksa x2+y2  vkSj x2-y2dk xq.kuQy D;k gksxk \
a) (x2+y2)2 b) (x-y)2 c) x4-y4 d) None of these

a) (x2+y2)2 b) (x-y)2 c) x4-y4 d) bueas ls dksbZ ugha

52 If 13+14+15+16=4a then   value of 'a' equals\
;fn 13+14+15+16=4a rc 'a' dk eku D;k gksxk\
a) 4 b) 6 c) 5 d) None of these

53 If 13824 106483 3 ' ' & ' 'a b  then (a-b)3 equals ?

;fn 1 3 8 2 43  ' 'a  vkSj 1 0 6 4 83  ' 'b rc (a-b)3 dk D;k eku
gksxk \
a) 2 b) 8 c) 6 d) None of these

a) 2 b) 8 c) 6 d) bueas ls dksbZ ugha

54 In what time will Rs. 1000 amounts to Rs. 1331 at 10% per annum compounded annually?

10% okf"kZd pØo`fr O;kt nj ls 1000 :i;s fdrus le; eas 1331 :i;s gks tk,sxsa \
a) 3 years b)  2 years c) One year d) None of these

a) 3 o"kZ b)  2 o"kZ c) ,d o"kZ d) bueas ls dksbZ ugha

55 Mohit purchase a car for Rs. 750 & sold it for Rs. 875 the gain % is ?

eksfgr ,d dkj dks 750 :i;ksa eas [kjhn dj 875 :i;ksa eas cspdj fdrus izfr'kr ykHk dek,sxsa\

a) 14
2

3
% b) 16

2

3
% c) 7

9

13
% d) None of these

a) 14
2

3
% b) 16

2

3
% c) 7

9

13
% d) bueas ls dksbZ ugha
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56 The number Z56328769 will be divisible by 11 if value of Z equals ?

la[;k Z56328769, 11 ls foHkkftr gksxh ;fn Z dk eku gksxk \
a) 9 b) 7 c) 5 d) 3

57 Which of the following is incorrect ?

fuEufyf[kr eas ls D;k lgh ugha gS \
a) If the rate reduces by l %, m%, n% during first second & third year then principal amounts

to after 3 years be P
l m n

1
100

1
100

1
100

LNM
O
QP LNM

O
QP LNM

O
QP

;fn izFke f}rh; vkSj r`rh; o"kkZsa eas njsa l%, m%, n% de dj nh tk;s rks ewy/ku rhu o"kksZa ckn

P
l m n

1
100

1
100

1
100

LNM
O
QP LNM

O
QP LNM

O
QP gks tk,xk A

b) When interest calculated compunded quarterly then amount computed by P
R

n

1
100

4

FHG
I
KJ

tc C;kt frekgh pØo`fr la;ksftr gksrk gS rc feJ/ku dh x.kuk P
R

n

1
100

4

FHG
I
KJ

c) Loss
Loss x

C P
Discount

Discount x

MP
%

. .
& % 

100 100

  gkfu%

d) C.I. = Amount - Principal

pØo`fr C;kt = feJ/ku & ewy/ku

58 One of the factor of 3m2+9m+6 is

3m2+9m+6 dk ,d xq.ku[k.M gSA
a) m+3 b) 3m+6 c) 3m+2 d) None of these

d) bueas ls dksbZ ugha
59 If m4-256=(m-a) (m-b) (m2+c) then which of the following is true

a) 'a' & 'b' are of opposite sign 'a' vkSj 'b' foijhr fpUg ds gSaA
b) Number 'c' is square of number 'b'  la[;k 'c' la[;k 'b' dk oxZ gS
c) Number 'c' is square of number 'a' la[;k 'c' la[;k 'b' dk oxZ gS
d) All of these ;s lHkh
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60 If f(x) = x2+5x+4 then f(-3) equals ? ;fn f(x) = x2+5x+4 gS rc f(-3) dk ds leku gksxk \
a)  - 20 b) -2 c) 15 d) None of these

d) bueas ls dksbZ ugha
61 Two digit number ab can be written as ?

a) 10a-b b) 10b-a c) 10a+b d) None of these

d) bueas ls dksbZ ugha
62 The point A(5,0)  lies on fcUnq A(5,0) fLFkr gksxk \

a) x-axis b) y-asix c) on both axis d) None of these

d) bueas ls dksbZ ugha
63 The product (a+b-c) (a+b+c) equals ? xq.kuQy (a+b-c) (a+b+c) ds leku gksxk \

a) a2+b2+c2 b) (a+b)2-c2 c) c2-(a+b)2 d) None of these

d) bueas ls dksbZ ugha
64 If x & y vary directly with each other when x=8 then y is 12 which of the following is not a

possible pair of corresponding values of x & y ?

;fn x vkSj y ,d nwljs ls lh/kk lEca/k j[krs gSa tc x=8 rks y=12 fuEufyf[kr eas ls dkSu lk ;qXe
x vkSj y lEHko ugah gSaa
a) 10 and 15 b) 2 and 3 c) 6 and 9 d) 15 and 20

65 The area of quadrilateral ABCD if AC=7cm BL=4cm, DM=5cm is equals

prqZHk qt ABCD dk {ks=Qy D;k gksxk ;fn AC=7cm, BL=4cm, DM=5cm

a) 25.5cm2 b) 31.5cm2 c) 46.5cm2 d) 62.5cm2

66 For and integer x 1 , the value of x3 satisfies ?

a) always >x2 b) always < x2 c) equals to x2 d) None of these

d) bueas ls dksbZ ugha
iw.kkZad x 1 ds fy,] x3 dk eku fuEufyf[kr eas ls fdls larq"V djrk gSA
a) lnSo >x2 ls cM+k gksxk b) lnSo <x2 ls de gksxk
c) x2 ds leku gksxk d) bueas ls dksbZ ugha

67 A polyhedron has 12 faces, 16 vertices than number of edges of polyhedron are ?

fdlh cgqHk qt ds 12 Qyd] 16 'kh"kZ gS rc mlds fdrus fdukjs gksxsa \
a) 26 b) 28 c) 30 d) None of these

d) bueas ls dksbZ ugha
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68 Which of the following is not true ? fuEufyf[kr eas ls D;k lgh ugha gS \
a) P(4, -2) indicate that abscissa of the point P is 4

P(4, -2) n'kkZrk gS fd fcUnw P dk X funs'kkd 4 gS
b) L (-4, -7) lies in third quadrant L(-4, -7) r`rh; prqnkZ'k% eas fLFkr gSA
c) The point M(-2,0) lies in the left of origin at x-axis

M(-2,0) 'kqU; ds ckbZ vksj x- v{k ij fLFkr gSA
d) The point s(-2,3) lies in the fourth quadrant fcUnw S(-2,3) pkSFks prqnkZ'k% eas fLFkr gSA

69 If x+y=5 & xy=1 then x3+y3= ?

;fn x+y=5 vkSj xy=1 rc x3+y3= dk D;k eku gksxk \
a) 100 b) 120 c) 105 d) None of these

d) bueas ls dksbZ ugha

70 If .00000000837 = 8.37 x 10a then a = ?

;fn .00000000837 = 8.37 x 10arc a= dk eku gksxk \
a) -11 b) -9 c) -10 d) None of these

d) bueas ls dksbZ ugha

71 The value of x x xa b c b c a c a b2 2 2 2 2 2 2 2 2( ) ( ) ( )   x  x

x x xa b c b c a c a b2 2 2 2 2 2 2 2 2( ) ( ) ( )   x  x  dk eku gksxk

a) x a b c2 2 2 2( )  b) xab bc ca  c) x ab bc ca2( )  d) None of these

d) bueas ls dksbZ ugha

72 The value of
36 36

36

7

2

9

2

5

2

b g b g
b g
 36 36

36

7

2

9

2

5

2

b g b g
b g


 dk eku gksxk

a) 1260 b) -1260 c) -610 d) None of these

d) bueas ls dksbZ ugha

73 The height of the cylinder whose radius is 7cm & total surface area is 968 cm2, equals ?

ml osyu dh Åpk¡bZ D;k gksxh ftldh f=T;k 7cm vkSj lEiw.kZ {ks=Qy 968 cm2 gks \
a) 30cm b) 15cm c) 45cm d) None of these

d) bueas ls dksbZ ugha
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74 The parimeter of a rectangle is 44cm if length is x cm then its breadth equal ?

vk;r dh pkSM+kbZ D;k gksxh ftldh yEckbZ x cm vkSj ifjeki 44cm gks \
a) 22-x cm b) 22-2x c) 44-2x d) None of these

d) bueas ls dksbZ ugha

75 The product of
6

13
 & reciprocal of 

7

13
 equals ?


7

13
 ds O;qRØe vkSj 6

13
 dk xq.kuQy D;k gksxk \

a)
6

7
b)
42

169
c)
169

42
d)
6
7

76 Angle between the diagonals of a rhombus equals ?

leprqHkZqt ds fod.kksZa ds e/; dks.kksa dh eki D;k gksxk \
a) 1200 b) 600 c) 450 d) None of these

d) bueas ls dksbZ ugha
77 64m3 equals ? 64m3ds leku gksxk \

a) 4x106 cm3 b) 105 cm3 c) 64x106 cm3 d) None of these

d) bueas ls dksbZ ugha
78 List of integers lies between -4 & +2 is given by

-4 vkSj + 2 ds chp iw.kkdksZa dh lqph gksxh \
a) {-4, -3, -2, -1, 0, 1, 2}    b) {-3, -2, -1, 0, 1} c) {-3, -2, -1, 0, 1, 2} d) None of these

     d) bueas ls dksbZ ugha
79 The value of x for which 25, x, 2, 4 are in proportional

x dk eku D;k gksxk ftlds fy, 25, x, 2,4 lekuqikrh gks \
a) 50 b)

25

2
c) 25 d) None of these

d) bueas ls dksbZ ugha
80 The diagonals of a rhombus are 6cm & 8cm then its perimeter equals ?

;fn leprZqHkt ds fod.kksZa dh yEckbZ 6cm vkSj 8cm gS rks bldk ifjeki D;k gksxk \
a) 24cm b) 20cm c) 48cm d) None of these

d) bueas ls dksbZ ugha
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SOCIAL SCIENCE
81. Which battle was fought between Sirajuddaulah, Nawab of Bengal and Britishers ?

a) Battle of Plassey b) Battle of Buxar c) Battle of Awadh d) None of these

caxky ds uokc fljktqn~nkSyk vkSj vaxzstksa ds chp dkSu lk ;q} gqvk \
a) Iyklh dk ;q) b) cDlj dk ;q) c) vo/k dk ;q) d) bueas ls dksbZ ugha

82. The international demand for Indigo was affected by the discovery of ......................

a) Permanent colours b) Old colours c) Dark colours d) Synthetic colours

fdldh [kkst ls uhy dh varjkZ"Vªh; ek¡x ij cqjk vlj iM+k \
a) LFkk;h jaxksa b) izkphu jaxksa c) xgjs jaxksa d) d`f=e jaxksa

83. Who started Permanent settlement ?

a) Robert Clive b) Lord Cornwallis c) Rennel d) Holt Mackenze

LFkkbZ cankscLr fdlus 'k q: fd;k \
a) jkcVZ Dykbo b) ykMZ dkuZokfyl c) jsfuy d) gkWYV eSdsuth

84. Which flag was the symbol of Birsa Munda ?

a) White Flag b) Black Flag c) Green Flag d) Saffron Flag

dSlk >aMk fcjlk jkt dk izrhd Fkk \
a) lQsn >aMk b) dkyk >aMk c) gjk >aMk d) dsljh >aMk

85. What was the immediate cause of revolt done by Indian Sepoys ?

a) Use of Canons b) Use of new machines c) Use of fat coated cartridges d) None

of these

1857 ds fonzksg dk rRdkfyd dkj.k D;k Fkk \
a) fl}karks dk iz;ksx b) ubZ e'khuksa dk iz;ksx c) pchZ okys dkjrwl d) buesa ls dksbZ ugha

86. Who was the last Mughal Emperor ?

a) Bahadur Shah Zafar b) Akbar c) Jahangir d) Aurangzeb

vafre eqxy ckn'kkg dkSu Fks \
a) cgknqj 'kkg t+Qj b) vdcj c) tgkaxhj d) vkSjaxtsc

87. When did Delhi become capital of British India ?

fnYyh fczfV'k Hkkjr dh jkt/kkuh dc cuh \
a) 1901 b) 1905 c) 1911 d) 1908
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88. Rani Lakshmi Bai died at ..........

a) Kanpur b) Gwalior c) Nagpur d) Satara

y{eh ckbZ dgk¡ ij ejh \
a) dkuiwj b) Xokfy;j c) ukxiqj d) lrkjk

89. What is Jamdani

a) Chintz b) Muslin c) Cotton d) Bandanna

tkenkuh D;k gS \
a) NhaV b) eyey c) lwrh diM+k d) jax lkth

90. Where was the first cotton mill set up in India ?

a) Allahabad b) Ahmedabad c) Mumbai d) Solapur

Hkkjr eas igyk lwrh diM+k fey dgk¡ LFkkfir fd;k x;k\
a) bykgkckn b) vgenkckn c) eqEcbZ d) lksykiqj

91. Arya Samaj was founded by ................... in 1875.

a) Swami Dayanand Saraswati b) Ishwar Chandra Vidyasagar

c) Raja Ram Mohan Roy d) Swami Vivekanand

1875 eas vk;Z lekt dh LFkkiuk fdlus dh \
a) Lokeh n;kuan ljLorh b) bZ'oj pUnz fo|klkxj

c) jktk jke eksgu jk, d) Lokeh foosdkuan

92. The Indian constitution was enforced on :

a) 9 Dec. 1950 b) 15 Aug. 1947 c) 26 Nov. 1949 d) 26 Jan. 1950

Hkkjrh; lafo/kku dc ykxw gqvk \
a) 9 fnlacj 1950 b) 15 vxLr 1947 c) 26 uoEcj 1949 d) 26 tuojh 1950

93. Who was the founder of Indian National Congress ?

a) Lord Curzon b) A.O Hume          c) Dada Bhai Naoroji       d) Surender Nath Banerjee

Hkkjrh; jk"Vªh; dkaxszsl dk laLFkkid dkSu Fkk \
a) ykMZ dtZu b) ,-vks- g;we        c) nknk HkkbZ ukSjksth           d) lqjsUnz ukFk cSuthZ
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94. .................... was the movement which was started during partition of Bengal.

a) Non Cooperation b) Civil Disobedience c) Quit India d) Swadeshi & Boycott

caxky ds foHkktu ds nkSjku dkSu lk vkanksyu 'kq# gqvk \
a) vlg;ksx vkanksyu b) lfou; voKk vkanksyu c) Hkkjr NksM+ks vkanksyu d) Lons'kh o ckW;dkV

95. Who was the permanent chairman of constituent assembly ?

a) B.R. Ambedkar b) Dr. Rajendra Prashad c) Mahatma Gandhi d) Raj Gopal Chari

lafo/kku lHkk dk LFkk;h ps;jeSu dkSu Fkk \
a) oh-vkj-vEcsMdj b) Mk- jftUnz izlkn c) egkRek xka/kh d) jkt xksikykpk;Z

96. The judges of the supreme court of India retire at the age of :

Hkkjr ds loksZPp U;k;yk; ds U;k;/kh'k fdrus o"kZ dh vk;q eas fjVk;j gks tkrs gSa\
a) 62 years b) 65 years c) 60 years d) 50 years

97. Lok Sabha speaker is elected for a period of

yksd lHkk dk Lihdj fdrus dky ds fy, pquk tkrk gS \
a) 5 years b) 6 years c) 7 years d) 4 years

98. At present Lok Sabha consists of

a) 250 members b) 552 members c) 238 members d) 545 members

orZeku le; eas yksdlHkk ds lnL;--------- \
a) 250 members b) 552 members c) 238 members d) 545 members

99. In which year was domestic violence act passed

?kjsyw fgalk ,DV dc ikl fd;k x;k \
a) 2004 b) 2008  c) 2007 d) 2005

100. Who gave the slogan that "freedom is my birth right and I shall have it"

a) Mahatma Gandhi b) Subhash Chandra Bose

c) Bal Gangadhar Tilak d) Pt. Jawahar Lal Nehru

Lora=rk gekjk tUe fl) vf/kdkj gS ;s /;s; okD; fdl egkiq#"k us dgs \
a) egkRek xk¡/kh b) lqHkk"k pUnz cksl
c) cky xaxk/kj fryd d) ia0 tokgj yky usg#

101. When a terrible famine came in Bengal ?

caxky eas Hk;kud vdky dc iM+k \
a) 1760 b) 1770 c) 1765 d) 1775
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102. Invention of wheel has resulted in development of

a) Transport b) Industries c) Agriculture d) Minerals

ifg, ds vfo"dkj ls ------------------ dk
a) ;krk;kr b) m|ksx c) d`f"k d) [kfut

103. Which is a man made resource ?

a) Roads b) Forests c) Rocks d) Minerals

ekuo fufeZr lalk/ku gS \
a) lM+ds b) taxy c) pV~Vkusa d) [kfut

104. Manikaran is located in state of

a) Punjab b) Haryana c) Himachal Pradesh d) Jammu & Kashmir

euhdju fdl jkT; eas fLFkr gS \
a) iatkc b) gfj;k.kk c) fgekpy izns'k d) tEew ,.M d'ehj

105. Where was oil first found in India ?

a) Kerala b) Assam c) U.P. d) M.P.

Hkkjr eas rsy lcls igys dgk¡ [kkstk x;k\
a) dsjyk b) vklke c) mrj izns'k d) e/; izns'k

106. Which country is the leading produces of Tea ?

a) India b) China c) Japan d) Sri Lanka

pk; mRiknu eas dkSu lk ns'k vxz.kh gS \
a) Hkkjr b) phu c) tkiku d) Jh yadk

107. Which town is called the Manchester of India ?

a) Ahmedabad b) Mumbai c) Kolkata d) Kanpur

Hkkjr dk ekupsLVj fdl dLcs dks dgk tkrk gS \
a) vgenkckn b) eqEcbZ c) dksydÙkk d) dkuiqj

108. When did Bhopal tragedy take place ?

Hkksiky xSl =klnh dc gqbZ \
a) 1982 b) 1983 c) 1984 d) 1985
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109. What is the cause of high growth rate of population ?

a) High birth rate b) Low birth rate c) High death rate d) Low death rate

tula[;k dh mPp o`f} nj dk D;k dkj.k gS \
a) mPp o`f} nj b) de tUe nj c) mPp e`R;q nj d) de e`R;q nj

110. Which continent has only one percent population of world ?

a) North America b) Europe c) Asia d) Australia

fo'o dh dsoy ,d izfr'kr tula[;k fdl egk}hi eas gS \
a) mÙkjh vesjhdk b) ;wjksi c) ,f'k;k d) vkLVªsfy;k

111. When do we celebrate world environment day ?

fo'o i;kZoj.k fnol dc euk;k tkrk gS \
a) 10 March b) 22 March c) 25 March d) 5 June

112. Which is not a property of minerals ?

a) Colour b) Density c) Hardness d) Sensitivity

bleas ls dkSu lh [kfut dh lEink ugha gS \
a) jax b) ?kuRo c) dBksjrk d) laosnu'khyrk

113. Which is not a producer of Mica ?

a) Jharkhand b) Rajasthan c) Karnataka d) Andhra Pradesh

bueas ls dkSu lk vHkzd dk mRiknd ugha gS \
a) >kj[k.M b) jktLFkku c) dukZVd d) vkU/kzizns'k

114. Silicon Valley is located in .................

a) Banglore b) California c) Ahmedabad d) Calcutta

flyhdkWu ?kkVh dgk¡ fLFkr gS \
a) cSaxyksj b) dSfyQksfuZ;k c) vgenkckn d) dydÙkk

115. Which one of the following industries is known as 'Sunrise Industry' ?

a) Iron and steel Industry b) Cotton textile

c) Information Technology d) None of these

dkSu lk m|ksx ^lujkbt m|ksx* ds uke ls tkuk tkrk gS \
a) yksgk bLikr m?kksx b) lwrh oL= m|ksx c) lwpuk izkS/kksfxdh d) bueas ls dksbZ ugha
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116. When was the Ministry of Human Resource Development established ?

Hkkjr ljdkj ds v/khu ekuo lalk/ku ea=ky; dh LFkkiuk dc gqbZ \
a) in 1981 b) in 1983 c) in 1985 d) in 1987

117. Golden fiber refers to

a) Tea b) Cotton c) Jute d) None of these

lqugjk js'kk ls vfHkizk; gS
a) pk; b) dikl c) iVlu d) bueas ls dksbZ ugha

118. The lower house of the Indian Parliament is known as :

a) Rajya Sabha b) Lok Sabha c) Legistative d) Council of States

Hkkjrh; laln ds fuEu lnu dks -------------- dgk tkrk gS
a) jkT; lHkk b) yksd lHkk c) fo/kku ikfydk d) jkT; dh dkSafly

119. Who was the first Prime Minister of Independent India ?

a) Pt. Jawahar Lal Nehru b) Mahatma Gandhi

c) Subhash Chandra Bose d) Indira Gandhi

Lora= Hkkjr ds izFke iz/kkuea=h dkSu Fks \
a) ia tokgj yky usg: b) egkRek xka/kh
c) lqHkk"k pUnz cksl d) bfUnjk xka/kh

120. Adivasis are not found in which state of India ?

a) Orissa b) Gujarat c) Kerala d) Madhya Pradesh

vkfnoklh yksx Hkkjr ds fdl jkT; eas ugha ik, tkrs \
a) mMhlk b) xqtjkr c) dsjyk d) e/;izns'k
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SCIENCE
121. The yellow and orange colour of petals and fruits are due to

a) Chloroplast b) Chromoplast c) Leucoplast d) Both a & b

Qyksa vkSj ia[k qfM;ksa ds ihys vkSj larjh jax dk dkj.k gS \
a) DyksjksIykLV b) ØkseksIykLV c) Y;wdksIykLV d) a rFkk b nksuks

122. Which of the following organelle acts as digestive system within the cell ?

a) Golgi bodies b) Centrosome c) Lysosomes d) Mitochondrea

fuEu eas ls dkSu lk vaxd dksf'kdk ds ikpu ra= dh Hkkafr dke djrk gS \
a) xkYthdk; b)lsUVªkslkse c) ykbtkslksel d) ekbVksdksfUMª;k

123. Species restricted to certain geographic regions are called

a) Endangered b) Endemic c) Extinct d) None

og Lih'kht tks fdlh fo'ks"k {ks= eas fof'"V :i ls ikbZ tkrh gSA
a) ladVkiUu b) fo'ks"k {ks=h c) foyqIr d) dksbZ ugha

124. Which one of the following is an alga

a) Aspergillus b) Agaricus c) Yeast d) Volvox

fuEu eas ls 'kSoky gS
a) ,lijhftyl b) vxsfjdl c) ;hLV d) okYokDl

125. The excretory unit in humans is?

a) Nephrons b) Neuron c) Nephridea d) Nephrostoma

euq";ksa eas mRltZu dh bZdkb gS
a) usQjkWu b) U;wjkWu c) usQjhfM;k d) usQjksLVksek

126. Which of the following horomone is helpful in facing stress or danger ?

a) Adernaline b) Thyroxine c) Insulin d) Calcitonin

fuEu esa ls dkSu lk gkeksZu ruko dh fLFkfr ls fuiVius eas lgk;d gS \
a) ,fMªusfyu b) Fkk;jkWfDlu c) bUlwfyu d) dsYlhVksfuu

127. Multiple fission occurs in

a) Yeast b) Amoeba c) Hydra d) Plasmodium

buesa ls cgq&fo[kaMu gksrk gS
a);hLV b) vehck c) gkbMªk d) IykteksfMee
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128. Which of the following is an unpaired structure ?

a) Ovary b) Testes c) Fallopion tube d) Uterus

fuEu eas ls dkSu lh jpuk tksMs+ eas ugha gksrh

a) vaMk'k; b) o`"k.k c) vaMokfguh d) xHkkZ';

129. Non living part of the plant cell is

a) Nucleus b) Cytoplasm c) Mitochondria d) Cell wall

ikni dksf'kdk dk futhZo Hkkx gS

a) dsUnªd b) dksf'kdk nzO; c) ekbVksdksfUMª;k d) dksf'kdk fHkfÙk

130. Polythene is produced by

a) Isomerization b) Polmyerisation c) Hydrogenation d) All

fdl izfØ;k }kjk iksfyFkhu dk mRiknu fd;k tkrk gS \

a) vkblksesjkts'ku b) iksfyesjkts'ku c) gkbMªksftus'ku d) lHkh

131. Terrycot fibre is made using

a) Wood pulp b) Esters c) Acrylic d) Paper pulp

VsjhdksV js'kk fdlls cuk;k tkrk gS

a) ydM+h dh yqxnh b) ,LVj c) vØsfyd d) dkxt dh yqxnh
132. Live telecast of cricket match is possible due to

a) Geostationary satelite b) Polar satelite

c) Low earth orbiting satellite d) Sun-Synchronous satellite

fØdsV eSp dk lh/kk izlkj.k fdlls gksrk gS

a) ft;ks LVs'kujh lsVsykbV b) iksyj lsVsykbV

c) yks vFkZ vkjhcksfVax lsVsykbZV d) lu&fluØksul lsVsykbV

133. The planet which takes the maximum time to revolve around itself is

a) Mercury b) Earth c) Venus d) Neptune

og xzg tks vius pkjksa vksj ?kweus eas vf/kdre le; ysrk gS \

a) cq/k b) i`Foh c) 'kqØ d) usIV~;wu
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134. Earthquakes can be caused due to

a) Eruption of a volcano b) Meteor hitting the earth

c) An under ground nuclear explosion  d) All

i`Foh ij HkwdEiksa ds vkus dk dkj.k gS
a) Tokykeq[kh dk QVuk b) mYdk fi.M dk i`Foh ls Vdjkuk
c) Hkwfexr ukfHkdh; foLQksV gksuk d) lHkh

135. A compass placed in an electric field will be deflected due to

a) Heating effect of current b) Magnetic effect of current

c) Conducting effect of current d) Resistance of the needle to the electric field

paqcdh; lqbZ fo|qr {ks= eas j[ks tkus ij fo{ksfir gksrh gS
a) fo|qr ds m"eh; izHkko ds dkj.k b) fo|qr ds pqEcdh; izHkko ds dkj.k
c) fo|qr ds pkyu izHkko ds dkj.k d) lwbZ dk fo|qr {ks= eas vojks/k

136. Loudness of sound depends upon

a) Amplitude of sound wave b) Area of vibrating body

c) Distance from the source of sound d) All of the above

/ofu dh izcyrk fuHkZj djrh gS
a) /ofu rjaxks ds vk;ke ij b) dfEir oLrq ds {ks=Qy ij
c) /ofu ds L=ksr dh nwjh ij d) lHkh ij

137. In which of the following does the sound travel the fastest ?

a) Air b) water c) Steel d) None

fuEu eas ls fdlesa /ofu dh xfr rhozre gksrh gS \
a) gok b) ty c) LVhy d) dksbZ ugha

138. Which of the following is known as artificial silk ?

a) Nylon b) Dacron c) Royon d) Polythene

fuEu eas ls vizkd`frd js'ke gS
a) ukbykWu b) MsDjku c) js;kWu d) iksyhFkhu

139. Butachlor is a

a) Insecticide b) Pesticide c) Fungicide d) Weedicide

C;wVkDyksj gS ,d
a) dhVuk'kh b) ihM+duk'kh c) doduk'kh d) [kjirokj uk'kh
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140. Zohen an Iron nail is placed in copper sulphate solution, the bluish colour of copper sulphate

turns.

a) Browonish b) Yellowish c) Greenish d) Colourless

tc fdlh yksgs dh dhy dks dkWij lYQsV ds foy;u eas Mkyk tkrk gS rks bldk uhyk jax fdl jax
eas cny tkrk gS \
a) Hkwjk b) ihyk c) gjk d) jaaxghu

141. Which of the following non metals occurs as solid ?

a) Sulphur b) Carbon c) Iodine d) All

fuEu eas ls dkSu lk /kkrq Bksl gS
a) lYQj b) dkcZu c) vk;ksMhu d) lHkh

142. Which of the following metals occurs in their pure state ?

a) Copper b) Iron c) Zinc d) Gold

fuEu eas ls eqDr voLFkk eas ik, tkus okyh /kkrq gS
a) rk¡ck b) yksgk c) ftLr d) lksuk

143. In electroplating the metal to be deposited is made

a) Cathode b) Anode c) Electrolyte d) None

fo/k qrysiu dh izfØ; eas ftl /kkrq dks fu{ksfir fd;k tkrk gS og cuk;k tkrk gS
a) dsFkkWM b) ,uksM c) bysDVªksykbV d) dksbZ ugha

144. In myopia the image of distant object is formed

a) On the retina b) Behind the retina c) Before the retina d) None

fudV n`f"V nks"k eas nwj j[kh oLrq dk izfrfcac cu tkrk gS
a) jsfVuk ij b) jsfVuk ds ihNs c) jsfVuk ls igys d) dksbZ ugha

145. The film of camera is compared to which part of the eye

a) Iris b) Lens c) Chornea d) Retina

dSejk eas fQYe dh rqyuk vka[k ds fdl Hkk"kk ls dh tkrh gS \
a) ifjrkfjdk b) yasl c) dkfuZ;k d) jsfVuk

146. Which gas is produced when calcium carbonate is heated  with delute Hydrochloric acid

a) CO b) CO2 c) C2S d) Carbon Tetrachloride

tc dsfY';e dkckZsusV dks gkbZMªksDyksfjd vEy ds lkFk xeZ fd;k tkrk gS rks dkSu lh xSl mRiUu gksrh gS
a) CO b) CO2 c) C2S d) CCl4
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147. Which of the following gases is supplied in LPG cylinder for domestic use.

a) Methan & Propane    b) Methan & Ethane c) Ethane & Butane d) Propane, Butane

& Ethane

,y ih th flys.Mj eas dkSu lh xSl Hkjh tkrh gS \
a) ehFksu rFkk izksisu b) feFksu rFkk bFksu c) bFksu rFkk C;wVsu d) izksisu] C;wVsu rFkk ,sFksu

148. Which of the following is used in medicine as antacid

a) CaCO3 b) Na2CO3 c) NaHCO3 d) MgCO3

,.Vk,flM ds :i eas iz;ksx fd;k tkrk gS \
a) CaCO3 b) Na2CO3 c) NaHCO3 d) MgCO3

149. Which of the following are allotropes of carbon

a) Fullerene b) Graphite and Diamond c) Coke & Charcoal d) All the above

dkcZu ds vi:i gSaA
a) Qqyjhu b) xzsQkbV rFkk ghjk c) dksd o pkjdksy d) ;s lHkh

150. Wool is chemically a

a) Carbohydrate b) Protein c) Lipid d) None

Åu dk jklk;fud :i gS
a) dkcksZgkbMªsV b) izksVhu c) fyfiM d) dksbZ ugha

151. The residual substance of petroleum refining process is

a) Paraffin wax b) Kerosene c) Petrol d) Asphalt

isVªksfy;e ifj"dj.kh izfØ;k eas ok"i eas u cnyus okyk vo;o gS
a) iSjkfQu ekse b) feêh dk rsy c) isVªksy d) ,LQkYV

152. Citrus canker is caused by

a) Fungi b) Bacteria c) Virus d) Protozoa

uhacw dSadj dk dkjd gS
a) dod b) thok.k q c) ok;jl d) izksVkstksvk

153. Plants take nitrogen in the form of

a) Nitrates b) Nitrites c) Ammonia d) All the above

ikS/ks ukbVªkstu dks fdl :i eas ysrs gSa
a) ukbVªsV b) ukbVªkbV c) veksfu;k d) lHkh
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154. Jams & Squashes are preserved by adding

a) Acetic acid b) Sodium Benzoate c) Sodium Metabisulphate d) b & c

tSe ,oa LdoS'k dk ifjj{k.k djus gsrq fdl jlk;u dk iz;ksx fd;k tkrk gS
a) ,lsfVd vEy b) lksfM;e csatks,V c) lksfM;e esVkckblYQkbV d) b rFkk c

155. Rich source of Iodine is

a) Red Algae b) Green Algae c) Blue Algae d) Brown Algae

vk;ksfMu dk mÙke L=ksr gS
a) yky 'kSoky b) gjs 'kSoky c) uhys 'kSoky d) Hkwjs 'kSoky

156. When coal is heated in absence of air it gives

a) Coke b) Coal Gas c) Coal Tar d) All

tc dks;ys dks ok;q dh vuqifLFkfr eas tyk;k tkrk gS rks mRiUu gksrk gS
a) dksd b) dksy xSl c) dksy rkj d) lHkh

157. If a concave mirror forms a real image of same size as object, the object is place at

a) Focus b) between focus and pole

c) Between focus and centre of curvature d) at centre of curvature

vxj vory niZ.k oLrq dk mlh vkdkj dk okLrfod izfrfcEc cukrk gS rks oLrq j[kh gqbZ gS
a) Qksdl ij b) Qksdl rFkk iksy ds e/;
c) Qksdl rFkk oØrk dsUnz ds e/; d) oØrk dsUnz ij

158. The ore of Aluminium is

a) Haematite b) Magnetite c) Bauxite d) Galena

vY;qehfu;e dk v;Ld gS
a) gsesVkbV b) esxusVkbV c) ckDlkbV d) xsysuk

159. Magnesium oxide is

a) Basic oxide b) Acidic oxide c) Neutral oxide d) None

eSXuhf'k;e vkDlkbM dh izd`fr gS
a) {kkjh; b) vEyh; c) mnklhu d) dksbZ ugha

160. Which one of the following is endocrine and enocrine gland

a) Pancreas b) Testes c) Ovary d) all

n`oSrh dk;Z djus okyh xzafFk;ka gSa
a) vXuk'k; b) o`"k.k c) vaMk'k; d) lHkh
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ENGLISH
Read the pasage given below and answer the question that follow (1 to 5)

We often hear grown-up people complaining about having to hang about a

railway station and wait for a train. Did you ever hear a small boy complain about

having to hang about a railway station and wait for a train ? No, for him to be

inside a railway station is to be inside a large cave of wonder and a place of

poetical pleasures. Because to him the red light and the green light on the signal

are like a new sun and a new moon. Because to him when the wooden arm of the

signal falls down slowly, it is as if a great king had thrown down his staff as a

signal and started a shrieking tournament of trains.

161.What do growns-ups complain about on a railway station ?

a) Because the train is late

b) Because they cannot find a place to sit on the platform

c) Because they get impatient waiting for the train

d) There is a lot of noise there.

162.A small boy finds no reason to complain there as

a) he looks at everything around him with wonder

b) he passes his time enjoying the tournament of trains

c) he uses his imagination to find pleassure in everything

d) unlike his parents he is not worried about a train being late

163. 'shrieking' here means

a) shouting b) crying c) noisy d) speedy

164.'it is as if a great king had thrown down his staff as a signal and started a

shrieking tournament of trains.' Here 'king' refers to

a) signal man b) signal pole c) station master d) the engine

165.Mark the word nearest in meaning to 'staff'

a) flag b) pole c) rod d) arm
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166.Which of the following statements is NOT true:

a) Grown-ups get bored waiting for a train on the railway station

b) The signal lights appear to the child like the new sun and the new moon

c) Little children enjoy themselves watching the movement of trains

d) The station is a large cave of wonder and poetical pleasures.

167.'Hang about' here means,

a) spend time somewhere, usually without doing very much

b) look at things around you without taking much interest in them

c) move up and down nervously

d) change your position constantly

168.Choose the correct spellings :

a) attendence b) attendance c) attandance d) atendance

169.Choose the sentence with the correct punctuation :

a) Jaya and Asha, come here, immediately !

b) Jaya and Asha come here immediately!

c) Jaya and Asha, come here immediately!

d) Jaya and Asha come here, immediately!

170.Mark the correct passive form of

My sister gave me this pen.

a) This pen was given me by my sister b) My sister had given me this pen

c) My sister was given me this pen d) I was given this pen by my sister

171.Fill in the blank with the correct phrase :

The function ............... very well.

a) went off b) went up c) went out d) went of

172.Identify the opposite of 'promotion' :

a) commotion b) nomination c) prevention d) demotion
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173.Identify the grammatically correct sentence

a) Although I know her, I cannot trust her with so much money

b) Although I know her, but I cannot trust her with so much money

c) I know her, although I cannot trust her with so much money

d) Although I do not know her, so I cannot trust her with so much money

174.Choose the correct preposition to fill the blank :

Radioactive material should be disposed .................. carefully

a) of b) off c) out d) away

175.The following two sentences have been combined in four different ways.

Identify the correct one :

Come on time. You will get the ticket.

a) You will get the ticket, come on time

b) If you come on time, you will get the ticket.

c) if you will come on time, you will get the ticket.

d) if you come on time, you get the ticket.
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fgUnh
fuEufyf[kr x|ka'k ds vk/kkj ij iz'uksa ds mfpr fodYi pqudj fyf[k,A
thou rhu rjg dk gksrk gSA igyk ijksidkjh thou] nwljk lkekU; thou vkSj
rhljk vidkjh thouA bls mÙke] e/;e vkSj v/ke thou Hkh dgk tk ldrk
gS] Hkys gh Lo;a mUgsa mlls d"V ;k uqdlku mBkuk iM+sA bls ;Kh; thou Hkh
dgk tkrk gSA ;gh nsoRoiw.kZ thou gSA 'kkL= eas ;K mls dgk x;k gS] ftleas
izkf.kek= dk fgr gksrk gS vkSj ftu dekZs ls lekt eas lq[k] ,s'o;Z vkSj izxfr
eas c<+ksrjh gksrh gSA ;fn i`Foh dks cpkuk gks rks Js"B dekZsa dh rjQ lekt dks
yxkrkj izsfjr djus dk dk;Z djuk pkfg,A lkekU; thou og gksrk gS tks
ijaijk ds vuqlkj pyrk gSA ;kfu viuk vkSj nwljksa dk LokFkZ lk/krk jgsA bl
thou;kiu eas dksbZ cgqr Å¡ph lektksRFkku ;k ijksidkj dh Hkkouk ugha gksrh
gSA vidkjh ;kuh nwljksa dks ijs'kku djus okyk thou gh jk{klh thou dgk
tkrk gSA bl rjg ds thou ls lekt eas lHkh rjg dh leL;k,¡ iSnk gksrh gSA
nsoRoiw.kZ thou ls izse] n;k] vfgalk] lR; vkSj ln~Hkkouk dh izo`fr c<+sxhA ;s
lkjs ln~xq.k gh thou ;K dks lQy cukus ds fy, vko';d ekus x, gSaA

176 ;Kh; thou fdls dgk x;k gS \
d½ T;knk le; ;K djus eas chrs [k½ T;knk le; ijksidkj djus eas chrs
x½ T;knk deZ djus eas le; chrs ?k½ T;knk le; vius dke eas chrsA

177 lHkh izkf.k;ksa ds fgr ds fy, ,sls dke djsa ftuls
d½ vius deksZa ij /;ku tk, [k½ O;fDrxr fodkl gks
x½ lq[k vkSj ,s'o;Z eas o`f) gks ?k½ ijEijk ds vuqlkj dk;Z gksA

178 lkekU; O;fDr dSlk thou thrs gSaA
d½ /ku dekus eas yxs jgrs gS [k½ nwljksa ls bZ";kZ djrs gSa
x½ ijEijk ds vuqlkj pyrs gSa ?k½ LokFkZ flf) eas yxs jgrs gSaA

179 thou ;K dks lQy cukus ds fy, D;k t:jh gS \
d½ izse [k½ n;k x½ vfgalk ?k½ fn, x, lHkh

180 vfgalk vkSj lR; ds foykse 'kCn gSa
d½ fgalk] lp [k½ ekjdkV] vlR; x½ fgalk] vlR; ?k½ fgald] vlR;rk
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181 ^ls* dkjd fpUg dk iz;ksx fdlds fy, fd;k tkrk gS \
d½ dj.k laiznku [k½ dj.k viknku x½ dj.k&laca/k ?k½ dj.k&vf/kdj.k

182 fuEufyf[kr okD;ksa ds js[kkafdr inksa eas loZuke dk mfpr Hksn crkb,A eSa
rktegy ns[kus vkxjk tkÅ¡xkA
d½ mÙke iq:"kokpd [k½ vU; iq:"kokpd
x½ e/;e iq:"kkokpd ?k½ buesa ls dksbZ ugha

183 fo'ks"k.k ds fdrus Hksn gSa \
d½ rhu [k½ ikap x½ pkj ?k½ N%

184 fØ;k fdls dgrs gSa \
d½ izk.kh] oLrq] LFkku] Hkko vkfn ds uke dks laKk dgrs gSaA
[k½ laKk ds LFkku ij cksys tkus okys 'kCn laKk dgykrs gSaA
x½ fdlh dke dk djuk ;k gksuk crkus okys 'kCn fØ;k dgykrs gSaA
?k½ laKk ds fodkjh rRo fØ;k dgykrs gSaA

185 o.kZekyk fdls dgrs gSa\
d½ 'kCnksa ds lewg dks [k½ Lojksa ds lewg dks
x½ o.kksZa ds lewg dks ?k½ okD;ksa ds lewg dks

186 ^ijes'oj* dk mi;qDr laf/k foPNsn dkSu lk gSA
d½ ij$es'oj [k½ ije$bZ'oj x½ ije$,'oj ?k½ bueas ls dksbZ ugha

187 diM+k 'kCn dk i;kZ;okph ugha gSA
d½ vacj [k½ nqdwy x½ dwy ?k½ oL=

188 lekt eas ^bd* izR;; yxkus ij dkSu lk in 'kqn~/k gS \
d½ lekth [k½ lkekftd x½ lekftd ?k½ lekthd

189 ^diksr* fdl izdkj dk 'kCn gS
d½ rRle [k½ rn~Hko x½ ns'kt ?k½ fons'kh

190 ^thou* 'kCn dk lgh foijhrkFkZd 'kCn crkb,
d½ vkthou  [k½ thfor x½ ve`R;q ?k½ ej.k



VIII - 32

laLd`r

191 ^okxh'k%* 'kCn dk lfU/k foPNsn

d½ okd~$bZ'k% [k½ ckx$bZ'k% x½ ckr$bZ'k% ?k½ okxh$bZ'k%

192 ^Hkks$vue~* dh lfU/k :i

d½ Hkkste [k½ Hkqoue~ x½ Hkoue~ ?k½ HkksMue~

193 ^jp~* /kkrq eas ^DRok* izR;; ds ;ksx ls mfpr 'kCn gSA

d½ jfpRok [k½ jpf;Rok x½ jpfuRok ?k½ jpuh;

194 ^ifBrqe~* eas mfpr izR;; gSA

d½ rqe~ [k½ rqeu~ x½ rqequ~ ?k½ brqe~

195 ^vkxfe";kfu* dk mfpr milxZ gS

d½ vk [k½ vkx x½ vkxe ?k½ v

196 ^tye~* 'kCn dk lekukFkZd in gSA

d½ lfjr% [k½ {khj% x½ lfyye~ ?k½ nqX/ke~

197 ^vkxPN* dk foykse 'kCn gS A

d½ xPN [k½ vxPN x½ voxPN ?k½ iquxZPN

198 ^iBUrq* dk yV~ ydkj :i gSA

d½ iBFk [k½ iBke% x½ iBfl ?k½ iBfUr

199 ^vLen~* 'kCn dk i´peh foHkfDr cgqopu :i gSA

d½ vLekde~ [k½ vLeklq x½ vLer~ ?k½ vLeH;e~

200 uxj ds nksuksa vksj unh cgrh gSA okD; dk laLd`r :iA

d½ uxje~ vfHkr% unh ogfr [k½ uxjkr~ vfer% unh ogfr

x½ uxjL; vfHkr% unh ogfr ?k½ uxjs.k vfer% unh ogfrA


